PITT Qube SEV-25FG-AAA-T
ORMEASEBROBEFT>TEY A, ORMMEFERKERTRIDDYET,
OXRTMEFIOEERIEEENTEY A, CERHERIRBEA DAY £,

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/03/27 08:56:17



PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SEV-25FG-AAA-1

OBMEFERCERTSIENHY T,

OERHIBIEREA DM X

No. mE & - HME B Eff e

1 012190502  [SE-40 #° ¥7° §-2 ADC 1 6,000

2 011400202 [SER-25RA TS5 v <" ADC 1 1,000

3 011332801  [SE-40 F4v4n 17" NBR 1 900|(N)

4 011807804  [20A7° 3% 53 2 600[PA-156(4971771-102156)

5 011057905  [SEK-40E-1 759" 7" 35y ADC 1 5,700

6 012245701 [SEV-25FG B&= FC 1 4,200

7 012245602 [SEV-25FG 1 v RS FC 1 3,500

8 011144904 [SEH-25mMH7S5v Y ADC 1 2,200

9 011059301  [SE-40L-1 7379 1° &Y CR 1 400|(N)

10 [012700802 [SEV-40 R—R ¥ X SPC 1 4,600

11 011041702 |25 Hyyayan - 4 200((N)

12 743119030  [MAN BILREEHEASARIL b M6x16 4 200[(N)
SWRM

13 827419006 |RAF v b M6 1% |4 200((N)
SWRM

14 (846207106 |FEs 1/404% 4 200((N)
$19t1.2

15 012208001 [K100Tv Y v~R—2 SPCCT4.5 |2 500|(N)

16 [011809102 [SEI-25 nvbF )3 1 1,400

19 |735719145 |[RARIL MEBHTEL M8x14 1 200|(N)

20 [011011401 [SE-25 4y FEAEED v S v — BSP 3 200((N)

21 012240302 |SEV-25FG-AAA-1 881K FMOY7 (A 1 200((N)
0.05T

22  |012224002 |K100-C1-P1Ivy"y 1 0

23 011067302  [SEK-40 Ah=Aby-I @ 150-F v£53[1 3,000
99

24  [012321301 |oWvy 1517-425 |1 500|(N)
NBR

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/27 08:56:17




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SEV-25FG-AAA-1

OBMEFERCERTSIENHY T,

OERHIBIEREA DM X

No. mE & - HME B Eff e
25 889855048 [OYvy” P48 NBR 1 200((N)
26 743119045  |MAN FILEEHEASAET Vb M8x20 3 200((N)

SWRM
27 743119047  |MAN BILRESHEASET Vb M8x25 12 200((N)
SWRM
28 734532074  |[NAIUSHE MMTYIv-1T) M8x50 4 200((N)
SCM
29 854255008  [¥-M7yye 8 4 200((N)
30 [011848001  [SE-25 7v4yFhy7° Uvh™ H3 2 3,600|PA-11(4971771-100060)
31 011748901  [SE-25 hhmvdTT D F 43 2 1,200
32 011380701  [hhmysn® vy (yn f) NBR 2 500|(N)
33 011380301  [namyhaAR{K PBT 2 700
34 (011402801  |[hhRvhARMEN v42(25/MM) NBR 2 500|(N)
35 |011383705 |SE-250R AiR— R 1"x 3 m 1 4,500
36 |034078101 [SM-25 #w7°Uyy” ABS 1 400|(N)
37 |034078401 [SM-25 25X1545/3297° I ABS 1 300
38 |034078301 [SM-25 25X20TDFz97° I ABS 1 300
39  [034006501 [SM-25 #97° Uvh" n° viy CR 1 300|(N)
40 011819301  [SE-25 AN-F-93(4E171Y) 1 1,100
41 940019022  [f-an" yp 922 1 200((N)
42 940019026 [t-an"yp 926 1 200((N)
43 940019032  [f-an"yM $32 3 200((N)
44  |889955025 |OUv4” G25 NBR 2 200((N)
00 012013704  |SEFISCEH@ENIRERBAE /44190 A4 P12 1 O[(N)
00 012240401  [SEV-25FGEXEH {4kt A4 TEHE 1 O|(N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/27 08:56:17




